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47535 OTAKAZ XAPIZIOZ EYAITEAOZ 625007 |Oxi{Oxif 1 (12 [ 0O O 0 2 0 0 |13,00| 60 0 0 |800) 0O [ 0O) O|60f 0] O|260,000 420 | 0| O | Oxi|1]|Oxif 1.540,00 1
47525 | MANANIKOAAQY | AGANAZIOZ 2IMYPIAQN P872644 |Oxi|Oxi] 1 |12 ] 0| O 0 0 0 0 [12,00] 60 0 0 |800] 0] 0] O] Of O] 0]240,00[ 420 (0| O [Oxi[1]|Oxif 1.460,00f 2
47532 KATZIO> IQANNHZ AHMHTPIO> [AMN346670({Ox1|Oxif 1 [12 [ 0] O 0 0 0 0 |11,05] 60 0 0 |800) O ([ 0)Of[Of[O] 0]221,000 420 | 0| O | Oxi[1[Oxi| 1.441,00f 3
47681 ZIAMIMAS KONZTANTINO] TEQPrioz AZ792412 [Ox1|Oxi| 1 |5 [ 0] O 3 3 0 0 |15,04] 60 0 0 |275| 0 | 0 |120/110f O | O |300,80] 420 (0| O [Oxi[1|Oxif 1.225,80( 4
47595 STOIANNHX EYAITEAOX | AHMHTPIOX | AE126308 |Oxi|Oxi] 1 |5 1 0] O 0 0 0 0 |18,04| 60 0 0 |275) 0 {0)O0O[O0Of[0O] 0]360,80] 420 | 0| O | Oxi[1][Oxi| 1.055,80| 5
47507 TKATZIOY®AZ BAIOZ EYAITEAOZ X894878 Oxi|Oxi| 1 4 0 0 0 1 0 0 19,00 | 60 0 0 [200] O 0 0[30] 0 O (380,00 420 | 0| O | Oxi[1]Oxi| 1.030,00| 6
47578 ZIAKAZ AGANAZIOZ TEQPIIO> X392607 [Oxi|Oxif 1 | O [ O] 4 0 0 0 0 |15,06]| 60 0 0)0)O([#)0[0[0] 0]301,201 420 | 0| O |Oxi[1][Oxi| 921,20 7
47669 MNAAKOMITHZ IQANNHZ NAZAPOX $469501 |Oxi{Oxi]f 1 [0 [ O 4 0 2 0 0 [11,02] 60 0 0| O| O |##]| 0]60f 0] 0]22040] 420 (0| O [Oxi[1|Oxif 900,40 8
47635 [IAMAGYMIOMNOYAO] AHMHTPIOZ [ EYAITEAOX | AN826142 |Oxi|Oxi] 1 |0 | 0| O 0 2 0 0 |19,01] 22 0 0)]0)0[0)O([60f[ 0] 0]380,201 154 | 0| O | Oxi[1[Oxi| 594,20 9
47425 TKAAITZIOX IQANNHZ ANTQNIOZ AN373717 | Oxi|Oxi| 1 0 0 0 0 0 0 0 13,03 6 0 0 0 0 0 0 0 0 [ 0 |260,60] 42 0| O [Oxi|1]Oxif 302,60[10
47446 [ATZHNANATIQTIAH| MNMAPAZKEYAS [ MANAMIQTHX | AB855129 |Oxi|Oxi] A |7 | 0] O 0 1 0 0 |16,03] 60 0 0 |425| 0 [ 0) O[30f[ 0] 0320601 420 | 0| O | Oxi[A|Oxif 1.195,60[ 11
47484 MMNIKOZ BAZIAEIOZ MANQAHZ AZ291062 [Ox1|Oxi| A |11 | 0] O 0 2 0 0 [1990] O 0 0 |725| 0 {0) O[60f 0] 0398000 O |O| O |Oxi|[A[Ox]1.183,00{12
47673 [ TPOYMIOYKHZ FEQPIIO> MNAYAOZ AH289218 |Oxi{Oxif A [0 [ O [ 4 3 3 0 0 |13,05] 60 0 0 ) 0| O [##|120({110{ O | 0 |261,00)1 420 | 0| O | Oxi [A[Oxi| 1.111,00{13
47488 KAPAMAAHZ ANTQNIOZ | MANAMQTHX | AK983583 |Oxi|Oxi] A |0 | 0| O 0 0 0 0 |14,04| 60 0 671 0] 0] 0] 0[O 0] 0][280,80] 420 | 0 [134]| Oxi1 [A[Oxi| 834,80(14
47582 ZHKOX AHMHTPIOS |KQNSTANTINOZ| AH795975 |Oxi{Oxif A [0 [ 4 [ O 0 4 0 0 |11,03] 26 0 0] 0 ]200({ 0) O [110f{ O | 0 |220,60] 182 | 0| O | Oxi [A[Oxi| 712,60[15
47487 | NATZIOMOYAOZ MANQAHZ TEQPIIO> AK981991 [Ox1|Oxif A |0 [ 0] O 0 0 0 0 |13,01) 47 0 0)J]0)]0[0)JOf[O0Of[O] 0]260,201 329 |1 0| O | Oxi[A[Oxi| 589,20|16
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47510 OPTOYAIAHX HAIAZ AHMHTPIOZ AM851391 | Ox1|Oxi| A 1 0 0 0 2 0 0 [19,70| 8 0 0 0 0O[O0] 0]60] 0] 0([394,00f 56 | 0| O | Ox1|A[Oxif 510,00]|17
47629 2AKOIAQY 2TAYPOX NIKOAAOZ AE814544 |Ox1|Oxi] A | O 0] 0 0 0 0 0 [19,06] 3 0 0[0]0]0]0] 0|]0] 0]381,200 21 |0O] 0 |Oxi|A[Oxi| 402,20|18
47680 MNAMAIQANNOY [ AHMHTPIOZ OPOEYZ AM399605 [Ox1|Oxif A | O 0[O0 0 0 0 0 |118,04| 0 0 0)J0O)J]O0Of[fO0O)JOf[OfO] 0]360,800 O |O| O |Oxi[A[Oxi| 360,80(19
47676 NANAXAPIZHX AGANAZIOZ XAPIZIOZ AB110468 [Oxi1|Oxi| A | O 0[O0 0 2 0 0 |13,00] O 0 0)J]0)J]0[0O)O([60f[ 0] 0]260,000 O |O| O |Oxi[A[Oxi| 320,00{20
KOZANH, 14/12/2020
O MNPOEAPOZ THZ ENITPOMHZ
TA MEAH THZ ENITPOMHZ
1. TKANATZA IQANNA
XATZHIIANNAKHZ APTYPIOZ 2. TOYAKA ®QTEINH
2 amé 2
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